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Show all necessary steps for full marks. 
 

Question1: (4 points) (7.5 Textbook Exercise 88):  ( )1cos 2 tan ( 2) ?− − =    

Solution:    

 

Question 2: (4 points) (7.5 Textbook Exercise 107):  Write the expression 
24sec cot uarc

u

⎛ ⎞−
⎜ ⎟⎜ ⎟
⎝ ⎠

  as an 

algebraic expression in u , for 0u > . 
Solution: 
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Question 3: (6 points) (7.6 Textbook Exercise 90): Given the equation cos 1 cos 2θ θ− = . 
(a): Solve the equation over the interval [ ) 0 ,360° °  .      (b): Find all solutions. 

Solution (a): 

 
           { }60 ,  90 ,  270 ,  300SS = ° ° ° °  

            (b): 

           
Question 4: (6 points) (7.7 Textbook 7.7 Exercises 36 and 37): Solve the following equations: 

(a): 3arccos 2arcsin
2

x π+ =                                   (b):  1 1 2sin tan 3
3

x π− −+ =  

Solution: 
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Question 5: (2 points) (7.6 Recitation Q#1): Solve the following equations 

sin cos 1, for  0 .
2
x x x π+ = ≤ ≤  

Solution:  Given   sin cos 1
2
x x+ = ,  0 x π≤ <  

2

sin 1 cos ,  for  0 .     is in Quadrant I 
2 2 2 2
1 cos 1 cos     (because  is in quadrant I )

2 2
1 cos 1 2cos cos    (Squaring both sides)

2

x x xx

x xx

x x x

π
= − ≤ <

−
+ = −

−
= − +

⇒  

 20 2cos 3cos 1x x= − +  

     
2cos 1
cos 1

x
x

−
−

 

 0 (2cos 1)(cos 1)x x= − −  

 
2cos 1 0 ,     cos 1 0

1cos        ,     cos 1
2

x x

x x

− = − =

= =
 

5 ,    ,   0 ,  2
3 3

x xπ π π= =  

 ,   0  are the possible solutions in the given interval.
3

x xπ
= =  

Because squaring both sides, we need to check the above possible solutions: 

3
x π
=  ⇒   3sin cos 1

2 3

π
π

+ =   OK 

0x =    ⇒   0sin cos0 1
2
+ =   OK 

Answer:     0,
3

SS π⎧ ⎫= ⎨ ⎬
⎩ ⎭

 

 


